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Use Table 3 of the Appendix directly.

z2| 22 SF (& 7-15(a))
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Z 0 0 Zz
Area under entire Area to the left of z
curve = 1.0000
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Jon

S0l =28 = M Ol0 tHSot= xat
(28 7-23)

-1 ot



(Inverse normal)

11
]

=
1

J |

Od X
/| O

A< A< 1)

L

Tk

N

L]

il

1
oo

i

o} ofof o

=
=

1—AZS

=1 =
=E

.

___uD

o

oju

0l

r
o

K
=

o]

0l
7l

o]



For the left-tail case, look up the
number A in the body of the table
and use the corresponding z value.

/2] 25 FF g0l =0HA ER(As 7-24(a))




HAE H=Z E(Inverse normal)

For the right-tail case, look up the
number 1 — A in the body of the table

and use the corresponding z value.

(A 7-24(b))
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L (Inverse normal)

For the center case, look up the number 1- A

in the body of the table and use the
corresponding = zvalue,

Ol =&l E2(As 7-24(0))




P(-z1 < z £ z2)=090|1 4
25)

) 21

/-



	표준정규분포표 보기
	z=-1의 왼쪽 영역(그림 7-13)
	z=1.18의 왼쪽 영역(그림 7-14)
	슬라이드 번호 4
	슬라이드 번호 5
	슬라이드 번호 6
	슬라이드 번호 7
	슬라이드 번호 8
	슬라이드 번호 9
	슬라이드 번호 10
	슬라이드 번호 11
	슬라이드 번호 12
	슬라이드 번호 13
	슬라이드 번호 14
	역정규분포(Inverse normal)
	역정규분포(Inverse normal)
	역정규분포(Inverse normal)
	역정규분포(Inverse normal)
	슬라이드 번호 19

